E-47-16
Pavement Marking [Cooperative Bid]
9/15/2016

Amroad, LLC	Steffen & Sons Striping LLC	McShea Contracting, LLC
3975 Pembroke Road	13351 40th St. North	508 owen Ave. North
Hollywood, FL 33021	West Palm Beach, FL 33411	Lehigh Acres, FL 33971

Line #	Description	QTY	иом	Unit	Extended	Unit	Extended	Unit	Extended
1	Thermoplastic striping, single solid								
1	white, 4 inches wide	51000	L.F.	\$0.44	\$22,440.00	\$0.042	\$2,142.00	\$0.50	\$25,500.00
	Thermoplastic striping, solid yellow, 4								
2	inches wide	29100	L.F.	\$0.44	\$12,804.00	\$0.42	\$12,222.00	\$0.50	\$14,550.00
3	Thermoplastic striping, skip, white or								
3	yellow, 4 inches wide	30100	L.F.	\$0.44	\$13,244.00	\$0.42	\$12,642.00	\$0.50	\$15,050.00
4	Thermoplastic striping, solid white or								
4	yellow, 6 inches wide	128880	L.F.	\$0.66	\$85,060.80	\$0.62	\$79,905.60	\$0.60	\$77,328.00
5	Thermoplastic striping, skip, white or								
5	yellow, 6inches wide	88700	L.F.	\$0.66	\$58,542.00	\$0.65	\$57,655.00	\$0.60	\$53,220.00
6	Thermoplastic striping, solid white, 8								
	inches wide	8000	L.F.	\$0.87	\$6,960.00	\$0.80	\$6,400.00	\$1.00	\$8,000.00
7	Thermoplastic striping, solid yellow, 8								
	inches wide	7000	L.F.	\$0.87	\$6,090.00	\$0.35	\$2,450.00	\$1.00	\$7,000.00
8	Thermoplastic striping, solid white,								
8	12 inches wide	22500	L.F.	\$1.25	\$28,125.00	\$1.75	\$39,375.00	\$2.75	\$61,875.00
9	Thermoplastic striping, solid white,								
	18 inches wide	11600	L.F.	\$1.97	\$22,852.00	\$1.50	\$17,400.00	\$3.75	\$43,500.00
10	Thermoplastic striping, solid yellow,								
10	18 inches wide	5100	L.F.	\$1.97	\$10,047.00	\$2.25	\$11,475.00	\$3.75	\$19,125.00
11	Thermoplastic striping, solid white,								
11	24 inches wide	14800	L.F.	\$2.72	\$40,256.00	\$3.75	\$55,500.00	\$4.75	\$70,300.00
12	Thermoplastic directional arrow,								
12	white	2010	each	\$33.00	\$66,330.00	\$48.00	\$96,480.00	\$65.00	\$130,650.00
13	Thermoplastic street message	325	each	\$55.00	\$17,875.00	\$120.00	\$39,000.00	\$100.00	\$32,500.00
14	Reflective pavement markers	13057	each	\$3.00	\$39,171.00	\$3.80	\$49,616.60	\$3.25	\$42,435.25
15	Temporary reflective pavement								
13	markers	2500	each	\$3.00	\$7,500.00	\$2.00	\$5,000.00	\$3.25	\$8,125.00
16	Temporary striping, single solid								
10	white, 4 inches wide	15000	L.F.	\$0.14	\$2,100.00	\$0.12	\$1,800.00	\$0.28	\$4,200.00
17	Temporary striping, single solid								
1/	white, 6 inches wide	17600	L.F.	\$0.17	\$2,992.00	\$0.20	\$3,520.00	\$0.30	\$5,280.00

E-47-16
Pavement Marking [Cooperative Bid]
9/15/2016

Rogar Management & Consulting of FL LLC	ARION FI LLC
12011 SW 129th Ct. Unit 5	4500 N. Hiatus Rd. Ste. 214
Miami, FL 33186	Sunrise, FL 33351

Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended
1	Thermoplastic striping, single solid white, 4 inches wide	51000	L.F.	\$0.60	\$30,600.00	\$0.65	\$33,150.00
2	Thermoplastic striping, solid yellow, 4 inches wide	29100	L.F.	\$0.60	\$17,460.00	\$0.65	\$18,915.00
3	Thermoplastic striping, skip, white or yellow, 4 inches wide	30100	L.F.	\$0.60	\$18,060.00	\$0.85	\$25,585.00
4	Thermoplastic striping, solid white or yellow, 6 inches wide	128880	L.F.	\$0.60	\$77,328.00	\$0.90	\$115,992.0
5	Thermoplastic striping, skip, white or yellow, 6inches wide	88700	L.F.	\$0.60	\$53,220.00	\$1.15	\$102,005.0
6	Thermoplastic striping, solid white, 8 inches wide	8000	L.F.	\$0.80	\$6,400.00	\$1.60	\$12,800.0
7	Thermoplastic striping, solid yellow, 8 inches wide	7000	L.F.	\$0.80	\$5,600.00	\$1.60	\$11,200.0
8	Thermoplastic striping, solid white, 12 inches wide	22500	L.F.	\$1.49	\$33,525.00	\$2.25	\$50,625.0
9	Thermoplastic striping, solid white, 18 inches wide	11600	L.F.	\$2.39	\$27,724.00	\$4.00	\$46,400.0
10	Thermoplastic striping, solid yellow, 18 inches wide	5100	L.F.	\$2.39	\$12,189.00	\$4.00	\$20,400.0
11	Thermoplastic striping, solid white, 24 inches wide	14800	L.F.	\$3.61	\$53,428.00	\$4.75	\$70,300.0
12	Thermoplastic directional arrow, white	2010	each	\$100.00	\$201,000.00	\$75.00	\$150,750.0
13	Thermoplastic street message	325	each	\$200.00	\$65,000.00	\$250.00	\$81,250.0
14	Reflective pavement markers	13057	each	\$4.00	\$52,228.00	\$7.00	\$91,399.0
15	Temporary reflective pavement markers	2500	each	\$4.00	\$10,000.00	\$7.00	\$17,500.0
16	Temporary striping, single solid white, 4 inches wide	15000	L.F.	\$0.30	\$4,500.00	\$0.25	\$3,750.0
17	Temporary striping, single solid white, 6 inches wide	17600	L.F.	\$0.30	\$5,280.00	\$0.30	\$5,280.0

E-47-16
Pavement Marking [Cooperative Bid]
9/15/2016

Amroad, LLC	Steffen & Sons Striping LLC	McShea Contracting, LLC
3975 Pembroke Road	13351 40th St. North	508 owen Ave. North
Hollywood, FL 33021	West Palm Beach, FL 33411	Lehigh Acres, FL 33971

Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended	Unit	Extended
18	Temporary striping, solid yellow, 4 inches wide	20100	L.F.	\$0.14	\$2,814.00	\$0.12	\$2,412.00	\$0.28	\$5,628.00
19	Temporary striping, solid yellow, 6 inches wide	11600	L.F.	\$0.17	\$1,972.00	\$0.20	\$2,320.00	\$0.30	\$3,480.00
20	Temporary striping, skip white or yellow, 4 inches wide	17100	L.F.	\$0.14	\$2,394.00	\$0.12	\$2,052.00	\$0.28	\$4,788.00
21	Temporary striping, skip white or yellow, 6 inches wide	2500	L.F.	\$0.17	\$425.00	\$0.30	\$750.00	\$0.30	\$750.00
22	Temporary striping, solid white, 12 inches wide	2000	L.F.	\$0.32	\$640.00	\$0.75	\$1,500.00	\$2.00	\$4,000.00
23	Temporary striping, solid white, 24 inches wide	3500	L.F.	\$0.64	\$2,240.00	\$2.00	\$7,000.00	\$2.50	\$8,750.00
24	Temporary directional arrow	90	each	\$20.00	\$1,800.00	\$20.00	\$1,800.00	\$40.00	\$3,600.00
25	Temporary street message	86	each	\$30.00	\$2,580.00	\$45.00	\$3,870.00	\$50.00	\$4,300.00
26	Paint striping, solid blue, 4 inches wide	2150	L.F.	\$0.20	\$430.00	\$0.20	\$430.00	\$1.00	\$2,150.00
27	Paint striping, solid white or yellow, 4 inches wide, for parking stalls	5000	L.F.	\$0.14	\$700.00	\$0.20	\$1,000.00	\$1.00	\$5,000.00
28	Remove existing pavement markings using rotary grinder	1000	L.F.	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$3.00	\$3,000.00
29	Remove existing reflective pavement markers using rotary grinder	300	each	\$0.10	\$30.00	\$0.50	\$150.00	\$1.00	\$300.00

Total Price \$459,413.80 \$516,867.20 \$664,384.25

For thermoplastic striping, minimum job size: (dollar			
amount not to exceed \$900.00)	\$900.00	\$900.00	\$900.00
Conflict of Interest	No	No	No
Drug-Free Workplace	Yes	Yes	Yes
Terms & Conditions	Agree	Agree	Agree

E-47-16
Pavement Marking [Cooperative Bid]
9/15/2016

Rogar Management & Consulting of FL LLC	ARION FI LLC
12011 SW 129th Ct. Unit 5	4500 N. Hiatus Rd. Ste. 214
Miami, FL 33186	Sunrise, FL 33351

Line #	Description	QTY	UOM	Unit	Extended	Unit	Extended
18	Temporary striping, solid yellow, 4						
18	inches wide	20100	L.F.	\$0.30	\$6,030.00	\$0.25	\$5,025.00
19	Temporary striping, solid yellow, 6						
19	inches wide	11600	L.F.	\$0.30	\$3,480.00	\$0.30	\$3,480.00
20	Temporary striping, skip white or						
20	yellow, 4 inches wide	17100	L.F.	\$0.30	\$5,130.00	\$0.40	\$6,840.00
21	Temporary striping, skip white or						
21	yellow, 6 inches wide	2500	L.F.	\$0.30	\$750.00	\$0.50	\$1,250.00
22	Temporary striping, solid white, 12						
22	inches wide	2000	L.F.	\$1.00	\$2,000.00	\$0.85	\$1,700.00
23	Temporary striping, solid white, 24						
25	inches wide	3500	L.F.	\$1.00	\$3,500.00	\$1.90	\$6,650.00
24	Temporary directional arrow	90	each	\$40.00	\$3,600.00	\$25.00	\$2,250.00
25	Temporary street message	86	each	\$60.00	\$5,160.00	\$65.00	\$5,590.00
26	Paint striping, solid blue, 4 inches						
20	wide	2150	L.F.	\$1.00	\$2,150.00	\$0.25	\$537.50
27	Paint striping, solid white or yellow, 4						
	inches wide, for parking stalls	5000	L.F.	\$1.00	\$5,000.00	\$0.25	\$1,250.00
28	Remove existing pavement markings						
20	using rotary grinder	1000	L.F.	\$6.60	\$6,600.00	\$0.95	\$950.00
29	Remove existing reflective pavement						
	markers using rotary grinder	300	each	\$2.00	\$600.00	\$1.00	\$300.00

Total Price \$717,542.00 \$893,123.50

For thermoplastic striping, minimum job size: (dollar		
amount not to exceed \$900.00)	\$2,500.00	
Conflict of Interest	No	No
Drug-Free Workplace	Yes	Yes
Terms & Conditions	Agree	Agree